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PAPER – III 

LIBRARY AND INFORMATION SCIENCE 

Note :  This paper contains seventy five (75) objective type questions, each question 

carrying two (2) marks. Attempt all the questions.  

:   

 

1. The ‘Five Laws of Library Science’ was first published in the year 

(A) 1929 

(B) 1930 

(C) 1931 

(D) 1934 

(A) 1929 

(B) 1930 

(C) 1931 

(D) 1934  

2. Grey literature means  

(A) Classified documents 

(B) Archival documents 

(C) Unpublished documents 

(D) Digital documents 

(A)

(B)

(C)

(D) 

3. Three card system was proposed for 

(A) Maintenance of books 

(B) Maintenance of periodicals 

(C) Maintenance of reports 

(D) Maintenance of standards 

(A)

(B)

(C)

(D) 

4. The principle ‘Best Reading for the largest number at the least cost’ is applicable for 

(A) Circulation of books 

(B) Cataloguing of books 

(C) Acquisition of books 

(D) Digitization of books  

‘‘

’’ 

(A)

(B)

(C)

(D) 



F1403   4 

 

5. A Gazetteer is a source of information for  

(A) Persons 

(B) Animals 

(C) Govt. documents 

(D) Places 

(A)

(B)

(C)

(D) 

6. The concept of TQM is centred around the idea of   

(A) Quality circles 

(B) Timeliness of service 

(C) Customer focus 

(D) Scientific management 

(A)

(B)

(C)

(D) 

7. Chain is a net of 

 (A) Coordinate classes 

(B) Subordinate classes 

(C) Superordinate classes 

(D) Quasi main classes 

(A)

(B)

(C)

(D) 

8. Systems and specials are found in  

(A) UDC 

(B) DDC 

(C) SC 

(D) CC 

(A)

(B)

(C)

(D) 

9. Laminations is one of the modes of formation of 

(A) Isolates 

(B) Subjects 

(C) Sub-Isolates 

(D) Entries 

(A)
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(B)

(C)

(D) 

10. Wall-picture principle is related to 

 (A) Facet-sequence 

(B) Helpful sequence 

(C) Mnemonic sequence  

(D) Geographical sequence 

 (A) Facet-sequence 

(B) Helpful sequence 

(C) Mnemonic sequence  

(D) Geographical sequence

11. A union catalogue is a unit of  

 (A) Holdings of a National Library  

(B) Holdings of a Single Library  

(C) Holdings of a more than are Library 

(D) Holdings of a special Library 

(A)

(B)

(C)

(D) 

12. KWIC indexing was developed by 

 (A) F.W. Lancaster 

(B) B.C. Vickery 

(C) Martimer Taube 

(D) H.P. Luhn 

(A)

(B)

(C)

(D) 

13. Recall is a measure of 

 (A) Relevant items retrieved/relevant items available in collection 

(B) Relevant items retrieved and total retrieved 

(C) Non-relevant items retrieved/relevant items available in collection  

(D) Relevant items retrieved/non-relevant items available in collection 

(A)

(B)

(C)

(D) 

14. Scalar chain indicates 
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 (A) Authority structure 

(B) Staff performance 

(C) Chain for locking racks 

(D) List in the chain 

(A)

(B)

(C)

(D) 

15. ‘Regression’ establishes the relationship between  

 (A) Cause and effect 

(B) Constants and variables 

(C) Data and Information 

(D) Work and experience 

(A)

(B)

(C)

(D) 

16. INDEST is a 

 (A) Network  

(B) Consortia 

(C) Digital library 

(D) E-journal 

(A)

(B)

(C)

(D) 

17. Violation of the terms of an agreement encrochment or disregard of other's rights of 

intellectual property is known as 

 (A) Plagiarism 

(B) Infringement 

(C) Exploitation 

(D) Reproduction 

(A)

(B)

(C)

(D) 

18. ‘Books for All’ is the implication of 

 (A) First Law of Library Science 

(B) Second Law of Library Science 

(C) Third Law of Library Science 

(D) Fourth Law of Library Science 

‘‘ ’’

(A)
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(B)

(C)

(D) 

19. Encyclopedia of Library and Information Science is published from  

 (A) Bowker and company 

(B) H.W. Wilson and company 

(C) M.Dekker 

(D) UNESCO 

(A)

(B)

(C)

(D) 

20. ‘Social Science citation Index’ (SSCI) is a  

 (A) Source database  

(B) Reference database 

(C) Referral database 

(D) Multimedia database 

‘ ’   

(A)

(B)

(C)

(D) 

21. The sources of revenue for public libraries are 

 (A) Govt. Grants 

(B) Library Cess 

(C) Membership subscription 

(D) All the above 

(A)

(B)

(C)

(D) 

22. Cataloguing in publication (CIP) programme was introduced by 

 (A) Library of Congress 

(B) National Library of India 

(C) Imperial Library 

(D) BLLD 

(A)

(B)

(C)

(D) 

23. Providing links in a document to other document/sources is known as 

 (A) Hypertext 

(B) Hypermedia 

(C) Multimedia 
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(D) Hyperlink 

(A)

(B)

(C)

(D) 

24. Changing the conventional records format into machine readable records format is 

known as 

 (A) Record conversion 

(B) Retro conversion 

(C) Reconversion 

(D) Copy cataloguing 

 (A) Record conversion 

(B) Retro conversion 

(C) Reconversion 

(D) Copy cataloguing 

25. Which of the following is not a probability sampling? 

 (A) Random sampling 

(B) Cluster sampling 

(C) Convenience sampling 

(D) Multistage sampling 

 (A) Random sampling 

(B) Cluster sampling 

(C) Convenience sampling 

(D) Multistage sampling

26. The author of h-index is 

 (A) Harzing 

(B) Hardon 

(C) Hirsch 

(D) Higgins 

(A)

(B)

(C)

(D) 

27. Training the user to enable them to identify, select, evaluate and ethically use the 

information is known as 

 (A) User education 

(B) Information literacy 

(C) Computer literacy 

(D) Internet literacy 

(A)

(B)
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(C)

(D) 

28. Virus is a software which can 

 (A) Manipulate data 

(B) Replicate itself 

(C) Damage computer 

(D) All the above 

 (A) Manipulate data 

(B) Replicate itself 

(C) Damage computer 

(D) All the above

29. ‘Statistics for Doctors’. This title statement indicates 

 (A) General phase relation 

(B) Influence phase relation 

(C) Difference phase relation 

(D) Bias phase relation 

‘ ’

(A)

(B)

(C)

(D) 

30. ‘Trend Reports’ generally focus on 

 (A) General aspects 

(B) Theoretical concepts  

(C) Latest developments 

(D) All  the above 

(A)

(B)

(C)

(D) 

31. Identify the odd one out 

 (A) FAX 

(B) E.Mail 

(C) Photocopy 

(D) Index 

(A)

(B)

(C)

(D) 

32. Which of the following university was started Master Degree in library science for the 

first time in India?  

 (A) University of Madras 

(B) Banarus Hindu University 

(C) Delhi University 

(D) Bangalore University 
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(A)

(B)

(C)

(D) 

33. The law enunciated by Bradford is related to 

 (A) See page of information 

(B) Growth of information 

(C) Storage of information 

(D) Scatter of information 

 (A) See page of information 

(B) Growth of information 

(C) Storage of information 

(D) Scatter of information

34. LIS-FORUM is a  

 (A) Monthly news letter 

(B) CD-ROM database 

(C) E-mail based discussion forum in LIS 

(D) Public interactive forum 

(A)

(B)

(C)

(D) 

35. Identify the odd one out 

 (A) Canon of concomitence 

(B) Canon of relevant-sequence 

(C) Canon of recall value 

(D) Canon of differentiation 

 (A) Canon of concomitence 

(B) Canon of relevant-sequence 

(C) Canon of recall value 

(D) Canon of differentiation

36. Bandwidth is a measure of 

 (A) Data storage capacity 

(B) Data analysis system 

(C) Data conversion system 

(D) Data transfer rate 

(A)

(B)

(C)

(D) 

37. Which of the following tests will be employed for testing hypothesis? 

 (A) F-test 
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(B) Chi-square test 

(C) t-test 

(D) All the above 

(A)

(B)

(C)

(D) 

38. A digit with an ordinal value but without semantic value is known as 

 (A) Special digit 

(B) Empty digit 

(C) Normal digit 

(D) Binary digit 

(A)

(B)

(C)

(D) 

39. The concept of ‘The Sauro-Facet’ was developed by 

 (A) S.R. Ranganathan 

(B) Jean Aitkinson 

(C) Derick Austin 

(D) G. Bhattacharya 

(A)

(B)

(C)

(D) 

40. Layer Four in ISO-OSI reference model refers to  

 (A) Physical 

(B) Data link 

(C) Network 

(D) Transmission 

(A)

(B)

(C)

(D) 

41. Resource sharing among libraries is influenced by the factors like 

 (A) Information explosion 

(B) Increase in cost of documents 

(C) Changing information needs of users 

(D) All the above 

(A)

(B)
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(C)

(D) 

42. According to AACR2, physical description about a document in a catalogue entry is 

called  

 (A) Imprint 

(B) Collation 

(C) Add to notes 

(D) Special details 

 (A) Imprint 

(B) Collation 

(C) Add to notes 

(D) Special details

43. The premier institution for standardisation of different operations in a library in 

India is 

 (A) Indian Standards Organisation 

(B) Bureau of Indian Standards 

(C) Indian Standards Information Centre 

(D) Institute of Indian Standards 

 (A) Indian Standards Organisation 

(B) Bureau of Indian Standards 

(C) Indian Standards Information Centre 

(D) Institute of Indian Standards

44. Currently Science citation Index (SCI) is published by 

 (A) Emerald 

(B) Springer 

(C) Thomson 

(D) Elsevier 

(A)

(B)

(C)

(D) 

45. The output of AGRIS is 

 (A) AGRICOLA 

(B) AGRINDEX 

(C) AGROVAC 

(D) AGROBASE 

 (A) AGRICOLA 

(B) AGRINDEX 

(C) AGROVAC 

(D) AGROBASE

46. The process of influencing the tasks related activities of an organised group members 

is known as 

 (A) Decision making 
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(B) Problem solving 

(C) Leadership 

(D) Management 

(A)

(B)

(C)

(D) 

47. Which among the following is the one included in the Koontz’s classification of 

management theories? 

 (A) Classical theory 

(B) Neo-classical theory 

(C) Human behavioural theory 

(D) Modern management theory 

 (A) Classical theory 

(B) Neo-classical theory 

(C) Human behavioural theory 

(D) Modern management theory

48. WWW (World Wide Web) was invented by 

 (A) Vint Cerf 

(B) Charles Babbage 

(C) Tim Berners-Lee 

(D) Ster Jobs. 

(A)

(B)

(C)

(D) 

49. The OCLC on-line union catalogue service is available on 

 (A) First search 

(B) CORC 

(C) World cat 

(D) Prompt cat 

 (A) First search 

(B) CORC 

(C) World cat 

(D) Prompt cat

50. NISCAIR  is a merger of  

 (A) INSDOC and NISCOM 

(B) INSDOC and DESIDOC 

(C) INSDOC and NASSDOC 

(D) INSDOC and SENDOC 

 (A) INSDOC and NISCOM 

(B) INSDOC and DESIDOC 

(C) INSDOC and NASSDOC 
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(D) INSDOC and SENDOC

51. In data transfer process, which of the following has multiple bridges between 

different parts 

 (i) Hubs 

 (ii) Firewalls 

 (iii) Switching packets 

 (iv) Software 

 Codes : 

 (A) (i)  is only correct 

(B) (ii) and (iii) are correct 

(C) (i) and (iii) are correct 

(D) (ii) is only correct 

(i) 

(ii)   

(iii) 

(iv) 

 : 

(A) (i)   

(B) (ii) (iii)  

(C) (i)  (iii)  

(D) (ii)   

52. Which of the following criteria is used in evaluation of Information Retrieval system 

(IRS)? 

(i) Precision 

(ii) Thesaurus 

(iii) Recall 

(iv) Query 

Codes : 

(A) (i) and (ii) are correct 

(B) (ii) and (iv) are correct 

(C) (i) and (iii) are correct 

(D) (i) and (iv) are correct 

(i) 

(ii) 

(iii) 

(iv) 

:  

(A) (i)  (ii)  

(B) (ii)   (iv)  

(C) (i)   (iii)  

(D) (i)  (iv)  

53. Which of the following are Digital library software? 

(i) Green stone 

(ii) D-space 

(iii) Koha 
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(iv) Soul 

Codes : 

(A) (i), (ii) and (iii) are correct  

(B) (ii), (iii) and (iv) are correct 

(C) (i), (iv) and (ii) are correct 

(D) (i), (ii) and (iv) are correct 

(i) 

(ii) 

(iii) 

(iv) 

: 

(A) (i), (ii)  (iii)   

(B) (ii), (iii)  (iv)  

(C) (i), (iv)  (ii)  

(D) (i), (ii)  (iv)  

54. In library, RFID Technology is used in  

(i) Circulation of documents 

(ii) Cataloguing of documents 

(iii) Safety and security of documents 

(iv) Acquisition of documents 

 

Codes : 

(A) (i) and (ii) are correct 

(B) (ii) and (iv) are correct 

(C) (i) and (iii) are correct 

(D) (iii) and (iv) are correct 

(i) 

(ii) 

(iii) 

(iv) 

(A) (i)  (ii)  

(B) (ii)  (iv)  

(C) (i)  (iii)  

(D) (iii)  (iv)  

55. Which of the following are not library networks? 

(i) INFLIBNET 

(ii) DELNET 

(iii) NICNET 

(iv) RAILNET 

Codes : 

(A) (i) and (ii) are correct 

(B) (ii) and (iii) are correct 

(C) (iii) and (iv) are correct 

(D) (i) and (iv) are correct 
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(i) 

(ii) 

(iii) 

(iv) 

 : 

(A) (i)  (ii)  

(B) (ii)  (iii)  

(C) (iii)  (iv)  

(D) (i)  (iv)  

56. Which of the following are thesaurus? 

(i) TEST 

(ii) AGROVAC 

(iii) SLIC 

(iv) MESH 

Codes : 

(A) (i) and (ii) only correct 

(B) (ii), (iii) and (iv) are correct 

(C) (ii) and (iv) are only correct 

(D) (i), (ii) and (iv) are correct 

‘ ’? 

(i) 

(ii) 

(iii) 

(iv) 

 : 

(A) (i) (ii)  

(B) (ii), (iii)  (iv)  

(C) (ii)  (iv)  

(D) (i), (ii)  (iv)  

57. UGC-INFONET is a consortia to access 

(i) Thesis 

(ii) Thesis and Dissertation 

(iii) Periodicals 

(iv) Reference Books 

Codes : 

(A) (i) and (iii) are correct 

(B) (ii) and (iii) are correct 

(C) (iii) is only correct 

(D) (i) and (iv) are correct 

(i) 

(ii) 

(iii) 

(iv) 

 : 

(A) (i)  (ii)  

(B) (ii)  (iii)  
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(C) (iii)  

(D) (i)  (iv)  

58. Which of the following indexing systems belongs to pre-coordinate Indexing system 

group? 

 (i) Chain indexing 

 (ii) PRECIS 

 (iii) POPSI 

 (iv) UNITERM Indexing 

Codes : 

(A) (i), (ii) and (iv) are correct 

(B) (i), (iii) and (iv) are correct 

(C) (i), (ii) and (iii) are correct 

(D) (ii), (iii) and (iv) are correct 

‘ ’

(i) 

(ii) 

(iii) 

(iv) 

: 

(A) (i), (ii)  (iv)  

(B) (i), (iii)   (iv)  

(C) (i), (ii)   (iii)  

(D) (ii), (iii)  (iv)   

59. Which of the following reference sources are inclusive geographical sources? 

(i) Maps 

(ii) Atlases 

(iii) Year Books 

(iv) Encyclopedias 

Codes : 

(A) (i) and (ii) are correct 

(B) (ii) and (iii) are correct 

(C) (iii) and (iv) are correct 

(D) (i) and (iv) are correct 

(i) 

(ii) 

(iii) 

(iv) 

 : 

(A) (i)  (ii)  

(B) (ii)  (iii)  

(C) (iii)  (iv)  

(D) (i) (iv)  

60. Which of the following are not enumerative scheme of classification? 

(i) C.C 

(ii) DDC 

(iii) UDC 

(iv) LC 
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Codes : 

(A) (i) and (iii) are correct 

(B) (ii) and (iv) are correct 

(C) (iii) and (ii) are correct 

(D) (iv) and (i) are correct 

‘ ’

(i) 

(ii) 

(iii) 

(iv) 

: 

(A) (i)  (iii)  

(B) (ii)  (iv)  

(C) (iii)  (ii)  

(D) (iv)  (i)  

61. Match the following : 

             List – I List – II 

(a) S.R. Ranganathan  (i) Scientometrics 

(b) Dubrov and Karinros  (ii) Librametry 

(c) Otto Nache   (iii) Informetrics 

(d) Pritchard   (iv) Biblimetrics 

Codes : 

  (a) (b) (c)  (d) 

(A) (ii) (i) (iii)  (iv)   

(B) (i) (iii) (iv)  (ii) 

(C) (iii) (ii) (i)  (iv) 

(D) (iv) (i) (ii)  (iii) 

 I  II

 I     II 

(a)   (i)  

(b)  (ii)  

(c)    (iii)  

(d)    (iv)  

 : 

  (a) (b) (c)  (d) 

(A) (ii) (i) (iii)  (iv)   

(B) (i) (iii) (iv)  (ii) 

(C) (iii) (ii) (i)  (iv) 

(D) (iv) (i) (ii)  (iii) 

62. Match the following : 

     List  – I           List – II 

(a) National Library  (India) (i) Tanjavoor 

(b) Saraswathi Mahal Library (ii) Chennai 

(c) Khudabaksha Oriental  (iii) Kolkatta  

Public library  

(d) Connemare Public Library (iv) Patna. 

Codes : 

 (a) (b) (c)  (d) 
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(A) (ii) (iv) (i)  (iii)   

(B) (iii) (i) (ii)  (iv) 

(C) (iii) (i) (iv)  (ii) 

(D) (i) (iii) (iv)  (ii) 

  I   II

 –  I      II 

(a)   (i)  

(b)  (ii)  

(c)  (iii)  

(d)   (iv)  

 : 

  (a) (b) (c)  (d) 

(A) (ii) (iv) (i)  (iii)   

(B) (iii) (i) (ii)  (iv) 

(C) (iii) (i) (iv)  (ii) 

(D) (i) (iii) (iv)  (ii) 

63. Match the following : 

             List – I List – II 

(a) POSDCORB   (i) S.R.Ranganathan 

(b) MBO   (ii) Drury 

(c) Book Selection   (iii) Luther Gullicks 

(d) Two card system   (iv) Peter Drucker 

Codes : 

  (a) (b)  (c)  (d) 

(A) (ii) (iii) (i)  (iv)   

(B) (iii) (iv) (ii)  (i) 

(C) (i) (ii) (iii)  (iv) 

(D) (iv) (i) (ii)  (iii) 

  I   II

 –  I     II 

(a)    (i)  

(b)    (ii)  

(c)   (iii)  

(d)  (iv)  

 : 

  (a) (b) (c)  (d) 

(A) (ii) (iii) (i)  (iv)   

(B) (iii) (iv) (ii)  (i) 

(C) (i) (ii) (iii)  (iv) 

(D) (iv)  (i) (ii)  (iii) 

64. Match the following : 

 List – I   List – II 

(a) Search engine   (i) Perl 

(b) Browser   (ii) Ubantu 

(c) Operating system  (iii) Altavista 

(d) Programming language (iv) Google crome 

Codes : 

  (a) (b)  (c)  (d) 
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(A) (iv) (ii) (i)  (iii)   

(B) (i) (iii) (iv)  (ii) 

(C) (ii) (i) (iv)  (iii) 

(D) (iii) (iv) (ii)  (i) 

  I   II

 –  I     II 

(a)   (i)  

(b)    (ii)  

(c)   (iii)  

(d)  (iv)  

: 

 (a) (b)  (c)  (d) 

(A) (iv) (ii) (i)  (iii)   

(B) (i) (iii) (iv)  (ii) 

(C) (ii) (i) (iv)  (iii) 

(D) (iii) (iv) (ii)  (i) 

65. Match the following : 

 List  – I     List – II 

(a) INIS   (i) FAO, Rome 

(b) AGRIS   (ii) NLM, Maryland, USA 

(c) MEDLINE   (iii) IEE, UK 

(d) INSPEC   (iv) IAEA, Vienna. 

Codes : 

  (a) (b)  (c)  (d) 

(A) (ii) (iii) (iv)  (i)   

(B) (iii) (i) (ii)  (iv) 

(C) (iv) (i) (ii)  (iii) 

(D) (i) (iv) (iii)  (ii) 

 I   II

 –  I      II

(a)   (i)  

(b)    (ii)  

(c)   (iii)  

(d)   (iv) 

: 

 (a) (b)  (c)  (d) 

(A) (ii) (iii) (iv)  (i)   

(B) (iii) (i) (ii)  (iv) 

(C) (iv) (i) (ii)  (iii) 

(D) (i) (iv) (iii)  (ii) 

66. Match the following : 

 List  – I     List – II 

(a) E.J. Coates   (i) KWIC 

(b) H.P. Luhn   (ii) Things, property materials, action 

(c) Derek Austin   (iii) Concrete and process 

(d) J.Kaiser   (iv) PRECIS 

Codes : 

  (a) (b)  (c)  (d) 
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(A) (i) (ii) (iii)  (iv)   

(B) (ii) (i) (iv)  (iii) 

(C) (iii) (ii) (i)  (iv) 

(D) (iv)  (i) (ii)  (iii) 

 I   II

 –  I      II

(a)   (i)  

(b)    (ii) 

 

(c)   (iii)  

(d)   (iv) 

 : 

 (a) (b)  (c)  (d) 

(A) (i) (ii) (iii)  (iv)   

(B) (ii) (i) (iv)  (iii) 

(C) (iii) (ii) (i)  (iv) 

(D) (iv)  (i) (ii)  (iii) 

67. Match the following : 

 List  – I     List – II 

(a) Pre-natal cataloguing  (i) Shared cataloguing programme 

(b) NPAC   (ii) Library of congress 

(c) CIP   (iii) NUCSSI 

(d) Union catalogue   (iv) S.R. Ranganathan  

Codes : 

  (a) (b)  (c)  (d) 

(A) (iii) (ii) (i)  (iv)   

(B) (iv) (i) (ii)  (iii) 

(C) (i) (iv) (iii)  (ii) 

(D) (ii)  (iii) (i)  (iv) 

 I   II

 –  I     II 

(a)   (i)  

(b)    (ii)  

(c)    (iii)  

(d)   (iv) 

 : 

  (a) (b)  (c)  (d) 

(A) (iii) (ii) (i)  (iv)   

(B) (iv) (i) (ii)  (iii) 

(C) (i) (iv) (iii)  (ii) 

(D) (ii)  (iii) (i)  (iv) 

68. Match the following : 

 List  – I     List – II 

(a) Binary system   (i) 0-9, A-F 

(b) Decimal system   (ii) 0-7 

(c) Actual system   (iii) 0 and 1 

(d) Hexadecimal system  (iv) 0-9 

Codes : 
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 (a) (b)  (c)  (d) 

(A) (i) (iii) (iv)  (ii)   

(B) (ii) (iv) (iii)  (i) 

(C) (iii) (iv) (ii)  (i) 

(D) (iv)  (ii) (iii)  (i) 

 I  II

 –  I     II 

(a)   (i) 0-9

(b)    (ii) 0-7 

(c)    (iii) 0 1 

(d)   (iv) 0–9 

 : 

 (a) (b)  (c)  (d) 

(A) (i) (iii) (iv)  (ii)   

(B) (ii) (iv) (iii)  (i) 

(C) (iii) (iv) (ii)  (i) 

(D) (iv)  (ii) (iii)  (i) 

69. Match the following : 

 List  – I     List – II 

(a) World of learning  (i) Alphabetical 

(b) Sear’s list of subject heading (ii) Classified 

(c) Rogest’s international thesaurus (iii) Geographical 

(d) Indian National Bibliography (iv) Topical 

Codes : 

 (a) (b)  (c)  (d) 

(A) (ii) (iv) (i)  (iii)   

(B) (iii) (i) (iv)  (ii) 

(C) (i) (ii) (iii)  (iv) 

(D) (iv)  (i) (ii)  (iii) 

 I  II

 –  I     II 

(a)   (i) 

(b)  (ii)  

(c)  (iii) 

(d)   (iv) 

 : 

 (a) (b)  (c)  (d) 

(A) (ii) (iv) (i)  (iii)   

(B) (iii) (i) (iv)  (ii) 

(C) (i) (ii) (iii)  (iv) 

(D) (iv)  (i) (ii)  (iii) 

70. Match the following : 

        List  – I     List – II 

(a) Chattopadhyaya committee report (i) 1959 

(b) Kothari commission report (ii) 1942 

(c) Sinha committee report (iii) 1986 

(d) Fyzee committee report (iv) 1966 

Codes : 
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 (a) (b) (c)  (d) 

(A) (iii) (iv) (ii)  (i)   

(B) (iv) (iii) (ii)  (i) 

(C) (iv) (ii) (i)  (iii) 

(D) (ii) (iv) (iii)  (i) 

 I  II

 –  I     II 

(a)  (i) 1959

(b)  (ii) 1942 

(c)  (iii) 1986

(d)  (iv) 1966   

: 

 (a) (b) (c)  (d) 

(A) (iii) (iv) (ii)  (i)   

(B) (iv) (iii) (ii)  (i) 

(C) (iv) (ii) (i)  (iii) 

(D) (ii) (iv) (iii)  (i) 

Consider the following statements : 

71. Assertion (A) : Dictionary is the most widely known and used reference source. It 

doesn’t deal with collection  of words either of a language or special 

terms of a particular subject. 

 Reason (R) : Almost every household possesses a dictionary 

 Now select your answer according to the coding system given below : 

 Codes : 

 (A) Both (A) and (R) are true but (R) is the correct explanation of (A) 

(B) (A) is false but (R) is the correct explanation of (A) 

(C) Both (A) and (R) are false 

(D) (R) is true but (A) is false 

(A) :  

(R) :  

: 

(A) (A) (R) (R) (A)

(B) (A) (R) (A)

(C) (A) (R)

(D) (R) (A)

 Consider the following statements : 

72. Assertion (A) : CC and UDC are most suitable classification schemes for special 

libraries. 

 Reason (R) : Most of the special libraries are using either CC or UDC for 

classification of library documents. 

Now select your answer according to the coding system given below : 

Codes : 

(A) Both (A) and (R) are true and (R) is the correct explanation of (A) 

(B) (A) is false but (R) is true 
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(C) Both (A) and (R) are true, but (R) is not the correct explanation of (A) 

(D) (A) is true, but (R) is false  

(A)  : 

(R)  :

: 

(A) (A) (R) (R) (A)

(B) (A) (R)

(C) (A) (R)  (R) (A)

(D) (A) (R)

 Consider the following statements : 

73. Assertion (A) : Hypothesis are essential in all types of research. 

 Reason (R)  : Research can be conducted without hypothesis. 

 Now select your answer according to the coding system given below : 

 Codes : 

(A) Both (A) and (R) are true and (R) is the correct explanation of (A) 

(B) (A)  is false but (R) is true 

(C) Both (A) and (R) are false 

(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A) 

 (A)  : 

 

  (R)  :  

  

  : 

(A) (A)  (R) (R) (A)

(B) (A) (R) 

(C) (A) (R)  

(D) (A)  (R) (R) (A)

 Consider the following statements : 

74. Assertion (A) : Present day libraries need to develop social networking tools for 

their library websites. 

 Reason (R)  : It helps to reach the patrons where they live and provide service at 

the point of need. 

 Now select your answer according to the coding system given below : 

 Codes : 

(A) Both (A) and (R) are true but (R) is not the correct explanation of (A) 

(B) (A)  is true but (R) is false 

(C) (A) is  false but (R) is true 

(D) Both (A) and (R) are true 

 (A)  : 

 

  (R)  : 
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  : 

(A) (A)  (R) (R) (A)

(B) (A) (R) 

(C) (A) (R)  

(D) (A)  (R) 

 Consider the following statements : 

75. Assertion (A) : Use of microfilming is becoming absolete day by day. 

 Reason (R)  : ICT has developed digital technologies, which are quick, cheap and 

easy to handle. 

 Now select your answer according to the coding system given below : 

 Codes : 

(A) Both (A) and (R) are false 

(B) Both (A)  and (R) are true but (R) is not a correct explanation of (A) 

(C) (A) is true but (R) is false 

(D) Both (A) and (R) are true and (R) is the correct explanation of (A) 

 (A)  :  

  (R)  : 

 

  

  : 

(A) (A)  (R) 

(B) (A) (R) (R) (A)–

(C) (A) (R)  

(D) (A)  (R) (R) (A)

 

————————— 

 

LIBRARY AND INFORMATION SCIENCE 

Paper – III Answer 

 

 

1 C 16 B 31 D 46 C 61 A 

2 C 17 B 32 C 47 C 62 C 

3 B 18 B 33 D 48 C 63 B 

4 C 19 C 34 C 49 C 64 D 

5 D 20 B 35 C 50 A 65 C 

6 A 21 D 36 D 51 A 66 B 

7 B 22 A 37 D 52 A 67 B 

8 D 23 D 38 A 53 A 68 C 

9 B 24 B 39 B 54 A 69 B 

10 A 25 C 40 C 55 C 70 D 

11 C 26 C 41 D 56 D 71 B 

12 D 27 B 42 B 57 C 72 C 

13 A 28 D 43 B 58 C 73 D 

14 A 29 D 44 C 59 A 74 D 

15 A 30 C 45 B 60 A 75 D 


